

September 1, 2015

$$\left(\frac{a}{b}\right)^{-n} = \left(\frac{b}{a}\right)^n = \frac{b^n}{a^n}$$

$$\frac{a^{-n}}{b^{-n}} = \frac{1}{a^n} \cdot \frac{b^n}{1} = \frac{b^n}{a^n}$$

Sep 1-10:02 AM

#4) $(a \cdot b)^n = a^n \cdot b^n$

$$\left(\frac{a}{b}\right)^n = \frac{a^n}{b^n}$$

Sep 1-10:06 AM

8.1
e.g. 2.f

$$\left(\frac{8}{27}\right)^{-2/3} \text{ neg. Exp.}$$

$$= \frac{8^{-2/3}}{27^{-2/3}} \text{ #4}$$

$$= \frac{27^{2/3}}{8^{2/3}} \text{ #5}$$

$$= \frac{(3)^2}{(2)^2} \text{ 2.f.}$$

$$= \frac{9}{4}$$

Sep 1-10:13 AM

2.g $(x^{-2/3} \cdot x^5)^{-2/3}$

$$\frac{x^{5 \cdot (-2/3)} \cdot x^{(-2/3) \cdot (-2/3)}}{x^{2/3}}$$

$$\frac{x^{-10/3} \cdot x^{4/9}}{x^{2/3}}$$

$$\frac{x^{-10/3 + 4/9}}{x^{2/3}} \text{ #5}$$

$$\frac{x^{-30/9 + 4/9}}{x^{2/3}} \text{ #2}$$

$$\frac{x^{-26/9}}{x^{2/3}} \text{ #2}$$

$$x^{-26/9 - 6/9} = x^{-32/9} \text{ #5}$$

$$x^{-32/9} = \frac{1}{x^{32/9}}$$

Sep 1-10:21 AM

2. h

$$\left(\frac{49c^{5/3}}{a^{-1/4}b^{5/6}}\right)^{-1/2} = \frac{49^{-1/2} \cdot (c^{5/3})^{-1/2}}{(a^{-1/4})^{-1/2} \cdot (b^{5/6})^{-1/2}}$$

$$= \frac{49^{-1/2} \cdot c^{-5/6}}{a^{1/8} \cdot b^{-5/12}}$$

$$= \frac{49^{1/2} \cdot c^{5/6}}{a^{1/8} \cdot b^{5/12}}$$

$$= \frac{49^{3/4} \cdot a^{3/8} \cdot c^{5/4}}{b^{5/4}}$$

$49^{3/4} = (49^3)^{1/4}$
 $= (7^6)^{1/4}$
 $= 343$

$$= \frac{343 a^{3/8} c^{5/4}}{b^{5/4}}$$

Sep 1-10:33 AM

8.1 #1 - #75 m³

Sep 1-10:51 AM